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  1.  4  ∗  4  =  1 
 
  2.  16  ∗   5  =   80     
 
  3.  90  ∗  19  =   71     
 
  4.  26  ∗   4  =  104     
 
  5.  88  ∗   4  =   22     
 
  6.  18  ∗   5  =   90     
 
  7.  78  ∗  54  =  132     
 
  8.  25  ∗   6  =  150     
 
   9.  77  ∗  29  =  106     

 

 

Write the sum out next 
to it, replacing the ∗ 

Now, on these the sign has 
been replaced with a big ∗. 
 
Can you work out what sign  
the  ∗  should be? 
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Answers 
 
1.  ÷          2.  x          3. −          4. x          5. ÷          6.  x          7. +          8. x          9. +      

 


